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duori- » / PART - A

28,30 80HoLT BOR. B8 HFodwe woTd BOTIL) BLODTTE. 40x1=40

Choose the best option. Each question carries One mark.

V0egS 0T MIETITT TS 2,00 ¥BFBDBY, VD WeBs.
(a) =& (b) Soszes (c) e (d) BDTWIEY

The expected success is not just an opportunity for innovation, it demands

'[a]_ Creation (b) Technology (c) Money (d) Innovation

5 BINTYIQ 03000 SRTLE 30088 FIUIE roeaegee) ?
(a) eos (b) B (c) 33 (d) Sodeeor

Which of the following is not an attribute of psychological individual
difference ?

(a) Motivation (b) Learning (c) Personality (d) Complexion

AOD T BE0D FINT Dpanrieh admwegey) ?

(a) V2 IBex=B (b) 232083

(c) =RTedre HFewes (d) eSS 230
Which are the following methods of time management ?
(a) ABC analysis (b) JIT

_{c) Pareto analysis (d) All of the above
BSPDT 0SB DoBTERD ?

(a) BB oIz |

(b) Z8TR) WHRE KB

(c) 083,000/ WIYRTO Fees
(d) B0drEe0 Jo®s

What is non-verbal communication ?

(a) Visual communication

{b}  The communication without using works
(c) By using numbers

(d) Actionable communication

P.T.O.
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5. 3zbob @Sl eeyirith 030 ?
(a) S oV B I3

(b) BB
(c) evgsdBIHT a3
(d)  S0ed3 2B v

What are the benefits of time managements ?
(a) Greater productivity and efficiency
(b) Less stress

(c) A better professional reputation
- (d) All of the above

6. a@s@cb Q’mgﬁ (Clamp! ﬁ@oagﬁ SRNENT, %) FF03W a’ga‘g e BT g‘és
SREEITD.
(a) Rodo- HFDETTED (b) 3-=Ooes
(c) sgroos (d) Fodo-Qodoses

is the positive or negative way an individual views himself or

herself. : '
(a) Self-actualisation (b) Self-concept
(c) Self-esteem (d) Self-regulation

7. %8B R0WT:

(a) wom B8 (b) 0303 58S B8
(c) e30000° B3 (d) CeBodbef 3y
Stress is : _
(a) External force {’6) Internal resistive force
(c) Axial force _ (d) Radial force
8. manv@_ BRODIPT) AN AeFPETOT Eﬁd‘% mxs’g.eaeg;i@oi) Ve B0.
(a) =Py (b)  eoss
(c) ©omIEe | __ (d) 8 2050
- Setting goals gives you long-term vision and short-term .
(a) Value ) ¢ 1l (b) Motivation
(c) Innovation ' “17/(d)- All of the above
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9. &ghd3 BRgSS) sons s3 WoNLONYR) 880008 :

(a) 1869 (b) 1879 (c) 1867 (d) 1877
Japan opened there doors to the modern world in ;
[}J— 1869 (b) 1879 (c) 1867 (d) 1877

10. %3 TPET wIBRLR e9orheosen Jodss R0ENRY WRTCTN B8ewen B8 GBS e:3T

(a) 0o3N030N Fodo- 905y (b) ARYPRIVES FB3
(c) mﬁr%@ﬁmﬁgmo—aﬁ@ (d) Fod0-A00d DY

People are more likely to act in line with personal beliefs than to conform to
social pressures when they are
(a) Privately self-aware (b) Low in self-esteem

(c} Publicly self-aware (d) Not self-regulating

2

11. Rpeeesr ﬁgone ATR0BY) T33¢ BN,

(a) Jed BE° (b) 0B 0o5®

(c) 2B°E (d) DF°. B, e3eeo®
Goal setting theory is pioneered by :

(a) Stacy Adams (b} Edwin Locke
(c) Charms (d) F.W. Taylor

12. Dend0oB o= WeHTONrHZE ?

(a)  zoox 8 &R (b) otz 0= e

(c) TOR), G0 TOINE TS (d) RF N Y Fodrish
What is revealed by the posture ?

(a) Cultural background (b) Thoughts and feeling

(c) Behaviour mild or tough (d) Expressions and actions

13. ex2edwon ai:ad;ﬁééab AT - 3T c‘:}mriaj@ 03 Seavdd aaéajaé@%mgﬁ ?

(a) ager (b) e & 2gent

(c) 3B FPpewse (d)  Rom® Ro5® sedves

Which author defined the socio-economic segmentation of the American
market ? '

(a) Edsel _AbB) © Alfred P. Sloan

(c) Henry Ford : - (d) Cyrus Mc Cormick

C P.T0.
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14.

15.

16.

17

18.

00pa3 Dedod Fommra) BN Foadod w0 FouedBR) TmpdRgs ?

(a) g (b) ek

(c) RNAD BRGD L, 83D (d) eds =R

Which type of communication conveys the message to the large number of
people ? . .

(a) Newspaper (b) Language

(¢) Mass Media and TV (d) All the above

RRETEE TRLE® doTTed ?

(a) = 2ege os, (b) meBIROH oD

[6] G 2333030 2,00 ez (d) Sodeds seyedes®
What is Morse code ?

(a) Secret number (b) Adventurous act
(c) A set of sound symbol (d) Alphabet over wire

Q35300 WERS adsadagb@ f;oc;-béoéamgd ?

(a) @ (b) S
(c) detjo® (d) edR cdmYTe B
Who invented change model ?

(a) Drawin (b) Lewin

(c) Kottar 1{d) None of the above

#0TBTFY) 03 FosSHSey) Apes=eNdogd ?

(a) RoSes wdabheend (b) IEHIS P

(c) BRU0ME &0 (d) Heds clneywe e

Which communication is very slower in communication ?

(a) Written communication (b) Newspaper media
(c) Outdoor advertisement {d) None of the above

03 3edsy BRET B Ky 1970 D) 1980 T 3356 heess Sptiseiohy) 500 Ji3Fadnn
BRTVBAIT ?

(a) e=eds ’(_b)-* T’ »{c) 23edw (d) 208
Which country emérges as an economic superpower and the toughest
competition in the worlds market of the 1970s and 1980s ?

(a) America (by” Japan (c) China (d) India
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19;

20.

21.

22,

R0BeS DI ?

(a) &odd WHTI WL

(b) DBeeBIen/ estdeden Ima0d) SREBE
(€) BT OIS SoedRGES

(d) Deds 20530

What is signal ?

(a) A previously agreed movement
(b) Helps to direct/command

(c) Shows the future direction

(d) All the above

W3R VBB VI B0k 30238 _ W3BR A0Sy IO,

(a) o0 : (b) DT JEZE

(c) Somes (d) 83

Stress management training is based on a theory of stress.
(a) Cognitive Jb) Cognitive behaviour

(c) Psychodynamic (d) Behavioural

ANEd, §03rieh 98,0 VTSR0 JosE DRI 2,08 YVTBTHB3TDAGS -

(a) SPDTFosms - (b) &I FozEs

(c) oR*-Bwrer Josss (d) 2mIEe ey

Communicating with others by gestures, actions, etc. is an example of :
/La)’ Verbal Corﬁmunication (b) Action Communication

(c) Non-Verbal Communication (d) None of these

03093 e35708Med mcﬁ&aaﬁ@é’&ba‘g lamn) ﬁoq:'yaﬁrﬁ’%faii S0OTBTHIGES ?

(a) O3 (b) ooz

(c) =020edw (d) VDR B

What shocks have continued to impose change or organizations ?
(8} Economic (b)  Psychological

(c) Physiological : (d) None of these

P.T.O.
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23. odeenm) sdoins ;Go;a’@é :

(@) ws& (b)
(c) &Faxbed (d)
Yoga is a culture which prevents -

(a) Stress (b)
(c) Disharmony ey

A

deern
SeIS QTR

Disease
All of the above

24. odns PRE B STV Nedmose 3-25ri8n DUV VRIS ?
(a) 1993 (b) 1983 (c) 1996 (d) 1986
In which year Le Frannaois offers definitions for significant self-awareness ?
(a) 1993 (b) 1983 ©) 199 (d) 1986
25. 2083, o Feear dem o)
(a) 30 5 B0b Fodpem (b)  wouesdR B3 JeBI
(¢) BT 20930 Oy (d) 38R To 233
What is the full form of LPC 7 3
Aa)” Least Preferred Const, (b)  Labour Preferred Cost
(c) Labour Private Corporation (d) Low Price Cost
26. PSoeTIE[oD TOST @) OBV ?
(a) o (b) eBoms
(c) 0308 (d) e adwyme £9¢)
What is followed by refreezing ?
@) Movement (b) . Stable
(c) Instability . (d) None of the above

27. noese Fg—warj)@ﬂaﬁ 1996 09 aimcy Eﬁaﬁajaédadcﬁog QeEITITS ?

(a) (b)

(d)

Sp900°
a_SeQi): Cé’;abo“

Who offered definition in 1996 for significant sclf-awareness ?

(a)
(c)

G. Stonley
Mullis

—b]

(d)

Le Frannaois

Wayne Dyer
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28. “wmsIoa) oG BRG rHos) FoEE ” HSom Ay s3ainged ?

(a) PTEzT om0 (b)  ©9e90b HAFH0L

(c) BT wordor® (d) =es30em; w3

What do you call “The communication to a mass of people or bigger group” ?
(a)-" Public speech (b) Exchanging opinion

/(c} Official chatting (d) General talk

29. 0z RoDT 33 VR WY e_-e@azpai)aﬁdab TR PO RGN BOBIBIS eﬂfﬁeaﬁc@dm‘ﬁdﬁb
D08, R0 308 dz&m&i *Eqiéa"abm odoem dz&ﬁob) RRVIE ?

(a) mog (b) gaeﬁﬁ@a
(c) =BToROID (d) aIn¥e) cdmeyce 2

Which structure refers to the extent to which a leader is likely to define and
structure his or her rote and those of subordinates in the search for goal
attainment ?

(a) Organization (b) Hierarchical

(c) Initiating (d) None of these

30. E3835° 0o Dedod PN ?

(a) &Oregs® wEs (b) 0Io8% T
(c) rieadess mps : (d) amFEe vy
Which type of device is telex ?
/La—) Telegraphic device (b) Mechanical device
(c) Computerized device (d) None of these

31. eosaurd Pge;rv) aow eugedseRrige ?

(a) ~aeess PBe)rieh (b) == RBeyrih

(c) B PBeyrien (d)  SedRBaep
Interpersonal skills are referred to as :

(a) Social skills (b) People skills
(c) Soft skills };1*)/ All of the above

C P.T.O.
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32.

33.

34.

35.

Lo B8p08 BrOesTearish BT Be30300NS ?

(2) Resos-mor (b) Rex-wgs

(c) =mo° (d) <cIBe ee
Knowledge-based innovations is the entrepreneurship ?
(a)) Super-star : “(b) Small~s.tar

(c) Star (d) None of these

ReTOREST ?Joeiod\m@ 0ds3 FoRBRey Begman g@ﬁ@m@ﬁ ?

(a)  Spegorish Fo=y WR,VO°TiRh (b)  &o° wodkeoo=d

(c) W BTN (d) SPDEZo=BS

Which communication can clarify the doubts of the receiver very fast ?
(a) Posters and banners (b) Fox advertising

(c) Broadcasting 9/ Oral communication

83 BYNDYPYS) adoeaycd rbab83Qel Dedod adeezs we) ?
(a) @0 (b) eVBTRET (c) CREDNGS (d) Seovard
Which of the following is not a recognised type of Plan ?

(a) Business (b) Succession (c) Ad hoc (d) Financial

Jobo 0NN wgobINey
(a)  Fodo- a’@a’gaﬁab@ BTN J-eor}8 8de0dr 3
(b) 2yo 50300 zfarj}éoi)@ ALERTOY ?@qﬂé&)g
(c) Sex=sch Jodo eaaqug @sﬁﬁ@aﬂagd
(d) a3voyens Aor)Seedra® 5bE T°IY) R0EBEF FTBeeB e Uua’%éob@ VIR
Studies of self-awareness have found that
(a) Self-awareness is not necessary for one to have a self concept
(b) It is not possible to disengage one’s self awareness
) Humans are the only animals who are self-aware

(c
/(,df It may rely on the presence of spindle neurons in the anterior cingulated
cortex. :
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36. mai@ea"eeﬁae RN0T3.
(a) @R (b} we® (c) FozHeo (d) 30@%@&?
Innovation means.

}L) Work (b) Strength (c) Resource ({d) Technology

37. c‘éfafjcﬁnj_l) B2 ,8,00 FYNSIYNTE) 0doesyicd ?

(a) S0 IRTD (b) SwESore
(c) eImoEY (d) Sobessn® S8
Which of the following shows the process of creating something new ?
(a) Business model (b) Modelling
(¢ Innovation (d) Creative flexibility
38. ODTR) DB 8CHER 200D TN,
(a) ~eopeTe (b) ©0degs
(c) ZZIN (d) Roed e 90
The success is a challenge to management’s Judgement.
(a) Normal B Unexpected
(c) Forever (d) None of the above

39. depermood rdng -
(a) =2TOOB BR) TR 9T B (b) Se0dom 2t SHerh

() 2ot JI@E BT B (d) e adezze 09¢)
Long-term goals are :

(a) Five to ten years or more (b) Three to five years
(c) One year or less (d) None of the above

40. D) ODBG VBRI ?
(a) o0& (b) Secd (c) Do) (d) e
How many leadership behaviours are there ?
(@) Two (b) Three (c) Four (d) Five

C P.T.O.
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41.

42.

43.

44,

don - W) / PART - B

B8,3=3 80O B, H DZodwe 2 V0TI Bo0DTYE. 15x2=30

Choose the best options. Each question carries 2 marks.

030933 Roe3B =y B0 SertawNaR: ?

(a) o= (b)  wIO@ PSS

(c) SPDz RIS (d) waIEe ey

Which communication is very fast ?

(a) Facial expression (b) Written expression

(e)” Oral expression (d) None of the above

AOTBIBE) DI WHFRAT ?

(a) Rodesnsh (b) oo

(c) Swagws (d) mBe ey

What is used in communication ?

(a) Signals by Language.

(c) Facial expression (d) None of these

WO BXe®Y) BET r\lbo_lc‘-bai () ARENYRY 93T 10 pazRely BRERM, BT

(a) wooeszgon® (b)) == sod) (c) ROAV (d) e

When a group gives some of its leadership positions to the member of other

group, it is :

(a) Contracting ﬂ)j/Co-OPting (c) Co-alition (d) Competition
NoSBD V) BPe)y, OB, ToRFnh, PZ0ND, Brignch S8y Fwgmen

WORROSYT.

(a) SPDTFTH (b) BRDB oSBT

(c) Srleacdess® (d) APeRead3
communication our value, ide,as,l beliefs, opinions,needs and wants

freely.

(a) Verbal communication (b) Non-verbal communication

(c) Negotiation’ (d) Assertiveness
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45. Pp0DHTR Fodo BIDTYINOT B8 T [TV BLRSR0T BTI0IPORNTT)

ST AENWBICD .

(a) ©TOTDT (b) OBorTRED (c) <Fee- Peof (d) o50zR%
_______ Leader is self-confident and can attract followers by his great
influence.

(a) Charismatic (b) Autocratic.: (e)” Laissez-faire (d) Bureaucratic

46. HTEHIT LTIREI DOBVED ?

(a) ~Frmds 8PP0l (b)  evIIRR

() Rz oSBT (d) Fesen DHODLT Wi #5038

What is public speech ?

(a) Public opinion b]” Lecture

(c) Mass Communication (d) Information about general topic

47. 03z oTR 35S r"JBﬁ%’ﬁg BRODTYN B 93003520201 33&) UU§3 do%ﬁ@ VDE oAV

woRSIT ?
(a) QBees (b) ~ops 85208
(c) Wowe (d) 2erE&rios=cd

Which leader sets challenging goals and expects followers to perform at
their higher level ?

(a) Directive (b) Achivement oriented

((/2)/ Supportive (d) Participative

48. 0305 TODTT ESVOE DDEFTING o SBRS ?
(a) OBerss (b)  PRRREDBID
(c) oS esEeds (d) 2owe
Which leaders know what is expected of them ?
(a) Directive (b) Participative

} Achievement oriented (d) ' Supportive

& i 9 )
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49,

50.

51.

52.

81 BNRIiIe A T90dITE BEROIID ?

[~

(a) ©geo %m@oé (b) FEeSob Ramgc@’

(c) BT AWR0S (d) =axndeme

Which one of the following is/are leadership theories ?
(a) Trait Theory (b) Behaviour theory
(c) Contingency theory ) (d} All of these

DR0TEE o8- 1eee BRWD 033 BOWANIEI ?
(a) oo3en® DT’ Y Dows’e HORE
(b) =° $eQT®

. (e)  Deednt
(d) eHoos®

Path-goal model of leadership was introduced by :

(aJ” Martine Evans and Robert House

(b) Fred fielder
(c) Whetton
(d) Cameron

SUALy 0D %e‘)cma‘pL 2028~ 2,008 s30635° B3 ,Oon® aﬁaarﬁ;@cjaii O HuGeDZS ?

(a) SRe20° edewes (b)  Qewems Aw®

(c) SR FezEDode® edewers (d) QYD B B

What refers to a nine-by-nine metric outlining different leadership style ?
(a) Manager table (b) Managerial grid

(c) Managerial table (d)” None of these

DVA WIRDRT® DIJO

(a) odesenevs eugshH D0 DFeRes
(b)  sSes evgad ooz e DPeR

(c) odmmeniewe I D003 e DPewss
(d) odemerieve evgad Sgen DBCRES

ABC analysis expand :

(&) Always better control analysis

-

(b) Alright better control analysis
(c) Always best control analysis

(d) Always better copy analysis
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53.

54.

55.

Vo0LTSE BEIYE 3 ?

(a) 2done (b) erE&bROBID
(c) RBS espeds (d) Oderss
Which is the leadership behaviour ?

(a) Supportive ; (b) Participative
(c) Achievement oriented (d) Directive

&R0 SOFYT uglednidmnon 3900E BaoRess Hom) D03 WeTIT

maabq%r,
(a) eos (b)  Qadbogen (c) aaabﬁg (d) ﬁoeegmdﬁ”

is the ability of influencing people to strive willingly for mutual
objectives.

(a})~ Motivation (b) Control (c) Leadership (d) Supervision

B FYNSJYYS adeaycd QEleb Sl BT AER0BIE ?

(a) oofaa. ATR03 (b) Ze3® Reee® ATY08

(c) =F® - aBex® - zriee ATR03 (d) 2wf Feods m&bﬁg

Which of the following is not a contingency theory of leadership ?
(a) LPC Theory (b)  Path goal theory

(c) Vroom-yehon-jago theory ((/i,)/ Job centred leadership

-00o0-

P.T.O.



